One hole is B, the other is C
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This sets the datum origin at datum

feature B and locating the other hole /]M
to this origin, when the distance varies

between the holes, no position tolerance
is given to datum feature B, all errors is
placed on the other hole (datum feature C).
So this design scheme allows less location

tolerance between the holes

i Both holes as datum feature B, the datum planes

are set as the average between the two holes, this

sets the origin at the center of the pattern and locating

the holes to each other. If any distance deviation

found between the holes, the error is balanced

between the holes, so this design scheme allows
more location tolerance between the holes.
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